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AMhich is The greatest number, o, 2, 4 o 67
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Which rumber is between 15 and 182
(H 14 (2) 16
(3) 19 (4) 20 (
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Which number sentence about the picture is not correct?

(1) 4+3=7

() 3+4
3) 4-3= (4) 74 =3 1 )
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There are ____ . animals altogether
(hy & (z) 10
(3) 14 4) 16 { 5

14, Which gubtraction senier ce maitches The number bond?
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Jane Rala - Mary- Ahiad A

(o

5 puplls are running in a race. T Mary falls down and
finish the race, then Bala is
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23.  Arrange the numbers inorder, Begin with the smallast
number, ’
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24, There are 9 balis alfogether, Draw the missing balis,
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34.  Jane and her sister have 13 hairclips.
Jane has b hairclips.

tHer sister has
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36.  Lookat the picture carefully and wiite an gddition sentetics,
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43, There were 15 rabbits in the garden,
7 of them hopped away.
How many rabbits were left th tne aarden?

were left in the aarder

e

44, There are 4 red buttons, 3 grean buttens and 6 vellow.
buttons in a box.
How many buttons are there altogether
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45 Jim had some merbles, He gave 3 marbles fo Risfriend,

¥

He then hiad 127 morbies left,
How mony mertics did he have at first?
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